Jan 8, 2009
l.y=—-x/3+5/3

2. x

3. -1

4. 2a/(2 — a) if |a| < 2, diverges otherwise
)
a
b

8. (—1/4,3/4,1/4)

Jan 27, 2009

1.

a) 3/(4e?) +1/4

b)y=xz/ed —e—3/(4e) +1/4

2. 22—z +1
3.1
4. 2(a —4)/(7—a) if |a — 4] < 3, diverges otherwise
9.
a) —(z + 1/4)e 4% /4
b) 1/16
6.1/3, 1
7T 0 -3 -1
7 15 1 -7 =2
-6 0 3 1
-2 0 1 0
8. w(l,—1,—1), w € R (one degree of freedom)
Jan 4, 2011
1.0
2. x #km, kel
3.1
4. o3y
5)

a) a = 2,3 # 3 impossible, « = 2, 3 = 3 infinite solutions 1 d.o.f., o # 2
unique solution
b) (=6 + 52,3 —3z,2), z€ R



